Conversions

1. If a beaker gained 4.59x107 joules, how many
a. calories did it gain? (lower case c)

454« [o75kes , [} 00 ealoricg) - loqgogé( colaries
g - Jowles -

b. Calories did it gain? (upper case C)

USax(o"jodes /(oo m‘“’}ﬁ | Cabrie) - 16281 Cortes
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Uig  Jovles 000 cale™™s
=me AT Type Problems
Instructions: For the eC, v
formula @=me AT £l in the a) (L\QD\&I' ) = (Wass ) (S\Ee,& ) ( i‘é‘% )
parentheses at right. P
Fill in (2) with the words such as )

“change of temperature”, “heat”,
“specific heat”, and “mass”
Fill in (b) with the units, such as

mepwasase, | WL A B Y ne e

a°C

Fill in blank with whichever is more appropsiate, 'specific heat' or 'heat'
heat Q stands for this in the formula @=m CAT.
Spec . el C stands for this in the formula a=m ¢ AT

. _Spec. is is 2 constant number for a given substance.
£ (2

pec
heo This is sometimes measured in joules
Spec. I This is sometimes measured in -i,-
‘eeh g°c
éat Y

N oA

This is sometimes measured in calories

—~
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8. How much heat will raise a pot of 500. g of water from 26. °C to 90. °C?

A={ ‘52@(({ 19 XQ@'&

(= 13396 gole

specific heat of 2 = =

silicon i J=-35-22-1

emifbies | AT=35-202VB SRS (45.09)( 12

temperature of C = TART

o o g T
C=.H | 7EY

If 2 copper hammer
gains 24,881 joules
of heat while its
temperature goes
from 13°C to 71°C,
what is the
hammer’s mass?
The specific heat of
copper is 0.385
Jig°C.

AT=75»
AT: 58 ‘e

F G|
B o)

A metal coin
absorbed 656.04
calories of heat.
What was the
mass of the coin if
the initial
temperature was
25°C and the final
temperature was
86°C? The specific
heat of copper is
0.092 cal/g°C...

AT‘ 8(91 ~26°c
AT: C/)‘ e
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Show work for full credit.

4. If 68.0 grams of metal were dmppcd into 171 grams of water calculate the followmg

11°C water

74°C meal

= 35°C water

35°C metal

@(\E@@)ﬁ

) Calculate the
e

G e

WA

(155

'3) Find AT for the water. *

AT= 35 — e
AT = 24%

b) How many joules of heat entered the

water?

&:NCAT

Q= () (wex ) 24 c)

(3= V#5535 o [7000 55k

c¢) How many)oules of heat heat left the Same GS wm e,ﬂ-@e d

metal? << +"\€_W

¢ heat of the metal.

300’? S
ondls s Sram degee
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5. Solve the following questions for a certain substance that contains only oxygen hydrogen )
and carbon, in the following amounts: .
Carbon: 34.00grams Hydrogen: 5.22 grams Oxygen: 11.04 grams ’
a. Find the percent oxygen by mass ]

‘(‘ti'\"‘;;;l +ety] megs: Y. OOj *5223*—“0‘43 = 50, Qéj
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b. How much oxygen would be in a larger sample of this same substance, if the
sample’s total mass w‘as 400. grams?
Lovd 4 R ol

folal en re
Ho0. 9 X [l 0({ ?:5 :87330;%/\
.26 i |

6. Solve the following questions for a certain substance that contains only oxygen, hydrogen,
and carbon, in the following amounts:
Carbon: 44.06grams Hydrogen: 6.20 grams Oxygen: 13.41 grams

a. Fmd the percent oxygen by mass (2 Y1q orygen _ b
s+v Secmds —= x[00 = )1:06%
ol 0= % T 6T /
“otal S'}UF"

Fushs U9 06qms ¥ 6,209« (34192 636 g

'
b. How much oxygen would be in a larger sample of this same substance, if the
Ndple s totai'mass was 690. grams?

3 UA(

A0 qrom$ U] FM4e) )
CON, 134 680\ _ g oy
663 s

-,

c. If you obtained a sample of this same substance that contained 84.2 grams of

oxygen, how large would that sample’s total mass be?
LO’*&\b V\UM\,;(

oy, 'Lgm kg, (63 (7 qeoes 10 400, rows 5
(\g 4l S'M\S o*ﬂjo

7. List the seven elements thdt exist as diatomic molecules:

H -F CQ,Z/% 1,
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8. The following questions all relate to the reaction where hydrogen (Hz) reacts with

nitrogen (N2) to form ammonia (NH3) according to this recipe:
3H; + 1N: — 2NH3

a. If2.7x10!8 molecules of Hz reacted, how many molecules of N2 would react?

g
) 2:’][ % 10‘ Molew‘és HZX

b. If 2.7x108 molecules of Hz reacted, how many molec

1,0'\2\'3 onY NH3

2 ‘__? x‘ 0!8 HZV“\“U\ es 5 2 okeg)es b
He 1 |

g Mol \ l _8 x IO‘S prclecuPs Hz

c. Convert 2.7x10'8 molecules of Hz into moles of Hz

2 0  molcules ¥y | o
X

3
(.02 (0"
d. Ifyou had 355 molecules‘of NHa, how many atoms of hydrogen arein those — —— —
= m&lé‘ecules all together? H
55Mo|ecal
,5 e§$ /b atoms - 1065 Mhoja\ ofom¢
N3
\ wdlecie

e. If you had 6934 atoms of nitrogen, how many molecules of nitrogen could you bro?

@2"‘( OC\’GMY Nﬂnﬁm% l m\ﬁl s %q67 Mo\ecule N-h'?

i otom

2 it ng;&

£ If 7.7x10' molecules of N2 reacted, how m?n molecules of NHs would form?
wolew f}y

7.7X lOBMOlQ(UW “2)( 2 t\l\—\g \ s \ |5)( ‘O“.N‘,“”‘“ NHg
e ( elecales )" 3
N2

g. Com'izrt 7.7x104 molecules of Hz }\nj\tg lixé(zles of Hz 1
7. 7010" weleedes o [ 10 " He 13 2|0« M My

___——r"'—__—- -— Ve e -
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